
1. Solve the following linear inequality −5x− 1 ≤ 5x < −5x+ 3.

A. − 11
10 ≤ x < − 7

10

B. 19
30 < x ≤ 7

30

C. − 1
10 ≤ x < 3

10

D. 33
10 < x ≤ 29

10

E. 29
10 ≤ x < 33

10

F. 7
30 ≤ x < 19

30

G. 3
10 < x ≤ − 1

10

H. − 7
10 < x ≤ − 11

10

2. Solve the following linear inequality 2x− 1 < −5x < 2x+3 and express your answer in interval notation.

A. x ∈ (− 10
7 ,− 6

7 )

B. x ∈ ( 17 ,−
3
7 )

C. x ∈ (− 6
7 ,−

10
7 )

D. x ∈ [− 10
7 ,− 6

7 ]

E. x ∈ (− 3
7 ,

1
7 )

F. x ∈ [− 6
7 ,−

10
7 ]

G. x ∈ [ 17 ,−
3
7 ]

H. x ∈ [− 3
7 ,

1
7 ]



3. Solve the following linear inequality 2x+ 2 ≥ 0 AND 3x+ 3 < 2.

A. −2 < x < − 4
3

B. The inequality is true for all values of x. Therefore, it is a contradiction.

C. x ≥ 2 OR x < 8
3

D. − 1
3 < x ≤ −1

E. − 1
3 ≤ x ≤ −1

F. −1 < x < − 1
3

G. − 4
3 < x < −2

H. −1 ≤ x < − 1
3

4. Solve the following linear inequality 5x−4 > 5 AND 2x+1 ≤ 3 and express you answer in interval notation.

A. x ∈ [1, 9
5 )

B. x ∈ [ 95 , 1)

C. x ∈ (−∞,−1] ∩ [− 1
5 ,∞)

D. x ∈ (−∞,− 1
5 ) ∪ (−1,∞)

E. The inequality has no solution x. Therefore, it is a contradiction.

F. x ∈ (1, 9
5 ]

G. x ∈ (−∞,− 1
5 ] ∪ [−1,∞)

H. x ∈ (−∞,−1) ∩ (− 1
5 ,∞)



5. Solve the following linear inequality 3x ≥ 4 OR 2x− 1 ≤ 0 and express you answer in interval notation.

A. x ∈ (−∞, 1
2 ) ∩ ( 43 ,∞)

B. x ∈ (−∞, 1
2 ] ∪ [ 43 ,∞)

C. x ∈ (−∞, 3
4 ] ∩ [ 1912 ,∞)

D. x ∈ R = (−∞,∞)

E. x ∈ (−∞, 9
2 ) ∩ ( 163 ,∞)

F. x ∈ (−∞,− 2
3 ] ∩ [− 3

2 ,∞)

G. x ∈ (−∞, 16
3 ] ∪ [ 92 ,∞)

H. x ∈ (−∞,− 2
3 ) ∪ (− 3

2 ,∞)

6. Solve the following linear inequality −5x− 1 < 4x < −5x+ 1.

A. − 4
9 < x < − 2

9

B. 1
9 < x < − 1

9

C. − 1
9 < x < 1

9

D. − 7
18 < x < − 11

18

E. − 2
9 < x < − 4

9

F. 35
9 < x < 37

9

G. − 11
18 < x < − 7

18

H. 37
9 < x < 35

9



7. Solve the following linear inequality 4x − 3 ≥ 4 AND 3x − 4 < −2 and express you answer in interval
notation.

A. x ∈ (−∞, 19
4 ) ∪ ( 113 ,∞)

B. x ∈ (−∞, 11
3 ] ∩ [ 194 ,∞)

C. x ∈ (−∞,− 5
4 ] ∪ [− 7

3 ,∞)

D. x ∈ ( 23 ,
7
4 ]

E. x ∈ [ 23 ,
7
4 )

F. x ∈ (−∞,− 7
3 ) ∩ (− 5

4 ,∞)

G. x ∈ ( 74 ,
2
3 ]

H. The inequality has no solution x. Therefore, it is a contradiction.

8. Solve the following linear inequality 3x− 5 > 5 OR 4x < −2.

A. x < 1
3 OR x > − 7

2

B. x > 1
3 OR x < − 7

2

C. x < 11
3 OR x > − 1

6

D. The inequality is true for all values of x. Therefore, it is an unconditional inequality.

E. x > 10
3 OR x < − 1

2

F. x > 11
3 OR x < − 1

6

G. x > 16
3 OR x < 3

2

H. x < 10
3 OR x > − 1

2


